2007

3 36 )
4 6 7
35 1 0 6 7 0
36 0 1 6 8 0
1 1 1 0 1 0

2006.08.01




(%) (%) Q)
4,918,729 100.0 % 5,208,627 100.0 % 289,898 5.6%
3,077,263 62.6 % 3,358,561 64.5% 281,298 8.4%
1,841,466 37.4% 1,850,066 35.5% 8,600 0.5%
0 0.0% 0 0.0% 0 0.0%
4,918,729 100.0 % 5,208,627 100.0 % 289,898 5.6%
3,077,263 62.6 % 3,358,561 64.5% 281,298 8.4%
1,841,466 37.4% 1,850,066 35.5% 8,600 0.5%
0 0.0% 0 0.0% 0 0.0%
4,918,729 100.0 % 5,208,627 100.0 % 289,898 5.6%
3,077,263 62.6 % 3,358,561 64.5% 281,298 8.4%
1,841,466 37.4% 1,850,066 35.5% 8,600 0.5%
0 0.0% 0 0.0% 0 0.0%




3,077,263| 100.0%| 3,358,561 281,298

1,186,913] 38.5%| 1,326,541 139,628

1- 958,041 1,163,897 205,856
1- 228,872 162,644 66,228
1,596,018] 51.8%| 1,744,290 148,272

2- 1,191,336 1,308,042 116,706
2- 256,936 278,647 21,711
2- 147,746 157,601 9,855
294,332 9.7%) 287,730 6,602

3- 88,100 84,147 3,953




206,232

203,583

2,649




2006 2007 2008
1:
1-
60% 61% 62%
CF 1000 1000 1000
1-
109 110 110
80.7% 81% 81%
2 :




2006 2007 2008
81% 81% 81%
80% 80% 80%
2-
52 52 52 ()
3 3 3 CcD
2-
100,000 100,000 100,000




2006 2007 2008
19 19 19
90% 90% 90%
3-
31 31 31




4,918,729 5,208,627 289,898
3,077,263 3,358,561 281,298
1: 1,186,913 1,326,541 139,628
1- 958,041 1,163,897 205,856
837,841 1,029,997 192,156
(1230-1231-120-201-01)
(=603,604)
- «C . ) 3,300,000 * 2 *1 = 6,600
- 12,000,000 * 2 *1 = 24,000
- 5,000,000 * 6 *1 = 30,000
- 500,000 * 4 = 2,000
- (=251,004)
( ) 11,017,000 * 12 = 132,204
( ) 5,500,000 * 12 = 66,000
4,400,000 * 12 = 52,800
- (KTX ) = 250,000
- = 40,000
CF = 150,000
50,000 * 3 * 12 = 1,800
974,000 * 7.5 * 11.90% * 1.1 = 957
1,540,000 * 12 = 18,480
(1230-1231-220-401-01)
1 = 63,000
120,200 133,900 13,700
(1230-1231-120-201-01)
( ) = 4,000
30 = 31,000




= 5,500
(1230-1231-120-203-03)
= 14,000
= 6,000
= 3,500
= 3,500
(1230-1231-120-301-07)
3,000,000 * 4 *3 = 36,000
(1230-1231-120-301-10)
50,000 * 13 * 12 = 7,800
300,000 * 13 * 1 = 3,900
(1230-1231-120-301-12)
= 5,000
1- 228,872 162,644 66,228
99,953 92,170 7,783
(1230-1231-120-202-01)
75,800 * 2 *4 *20 = 12,128
75,800 * 2 *3 *26 = 11,825
(1230-1231-120-203-03)
= 38,000
= 38,000
128,919 70,474 58,445
(1230-1231-120-201-01)
) 500,000 * 2 = 1,000
(=3,000)
- 15,000 * 100 = 1,500
- 5,000 * 300 = 1,500
(VTR ) = 3,905




- VIR

(1230-1231-220-206-00)
(=9,130)

(=3,000)
(0 )
(60 )

(=190)
(100 )

(=10,750)

7,000 * 12
8,000 * 3 *15 *12

35,000 * 3 * 12

825,371,000 * 2%
57,264,000 * 2%

20,000 *

200

31,000 * 30
140,000 * 30

3,000 *

900,000
600,000
20,000 * 5

30,000
50,000
15,000
15,000

4,000 *
10,000 *
25,000 *

4,000 *

1,000 *

800 * 2,

300

400
100
150
100
400
000

84
4,320

1,260
16,508
1,146

4,000
930
4,200
900

900
1,800
300

30
100
30
30

1,600
1,000
3,750
400
400
1,600




)
cD 2,000 * 1,000 = 2,000
20,000 * 100 = 2,000
(1230-1231-220-405-01)

1 = 40,000
= 31,000
726,000 * 1 = 726

2: 1,596,018 1,744,290 148,272

2- 1,191,336 1,308,042 116,706

1,191,336 1,308,042 116,706

(1230-1231-120-201-01)
(=604, 350)
140 * 80,000 * 51 = 571,200
650,000 * 51 = 33,150
(=125,400)
2,100 * 7,000 *6 = 88,200
6,200,000 * 6 = 37,200
(=55,200)
13,000 * 500 * 6 = 39,000
) 1,800 * 1,500 * 6 = 16,200
(=156,600)
700 * 15,000 * 12 = 126,000
550,000 * 12 = 6,600
2,000,000 * 12 = 24,000
= 3,352
= 3,960
« )

1,720 * 20 * 6 = 207
70,000 * 5 *6 = 2,100




(1230-1231-120-202-01)

75,800 * 2 *2 * 12 = 3,639

(1230-1231-120-202-03)
= 3,500

(1230-1231-120-301-12)
10,000 * 20 * 6 = 1,200

(1230-1231-220-307-05)

DM (=231,828)
(310 * 20,000 * 51 * 34%) + (110 * 20,000 * 51 ) = 219,708
(790 * 4,000 * 6 * 50%) + (110 * 4,000 * 6 ) = 12,120
2 256,936 278,647 21711
256,936 278,647 21,711
(1230-1231-120-201-01)
(=53, 340)
- 350,000 * 52 = 18,200
- = 500
- 570,000 * 52 = 29,640
- = 5,000
(1 ) (=25,200)
- = 7,000
- = 2,900
- = 15,000
- = 300
(=40,000)

- cD = 40,000
CF = 92,000




)
8,000 * 10 * 52 = 4,160
70,000 * 6 *8 = 3,360

(1230-1231-120-301-09)
65,000 * 1 * 12 = 780
88,000 * 1 * 12 = 1,056
44,000 * 1 * 12 = 528
156,000 * 1 = 156

(1230-1231-120-301-12)

(=23,920)
150,000 * 1 * 52 = 7,800
100,000 * 1 * 52 = 5,200
70,000 * 1 * 52 = 3,640
70,000 * 1 * 52 = 3,640
70,000 * 1 * 52 = 3,640
(=2,400)

= 1,000
= 500
= 500
= 200
= 200

(1230-1231-220-206-00)

(=10,036)
17,000 * 6 * 52 = 5,304
6 8,000 * 2 *52 = 832
VHS 3,000 * 25 * 52 = 3,900
2- 147,746 157,601 9,855
147,746 157,601 9,855

(1230-1231-110-101-09)




(=36,976)
29,650 * 2 * 249 = 14,766
14,766,000 * 4/12 = 4,922
29,650 * 2 * 15 = 890
5,560 * 25  *2 * 12 = 3,336
29,650 * 2 * 63 = 3,736
14,766,000 * 1.5/12 = 1,846
30,000 * 2 * 12 = 720
120,000 * 2 * 12 = 2,880
90,000 * 2 * 12 = 2,160
30,000 * 2 * 12 = 720
500,000 * 2 = 1,000
(1230-1231-120-201-01)
(=50,000)
- 650 * 20,000 = 13,000
- 1,000 * 25,000 = 25,000
- (=12,000)
2,000,000 * 4 = 8,000
BEXCO 2,000,000 * 2 = 4,000
126,872,000 * 7% * 1.1 = 9,770
(1230-1231-220-307-05)
BEXCO = 51,000
3: 294,332 287,730 6,602
3- 88,100 84,147 3,953
88,100 84,147 3,953
(1230-1231-110-101-10)
(=62,645)
33,500 * 25 * 70 = 58,625




)
33,500 * 20 * 6 = 4,020
33,500 * 3 *70 = 7,035
(1230-1231-120-201-01)
250,000 * 12 = 3,000
210 * 1,000 *2 = 420
(1230-1231-220-207-01)
= 15,000
3- 206,232 203,583 2,649
206,232 203,583 2,649
(1230-1231-110-101-09)
(=81,577)
29,650 * 4 * 249 = 29,532
29,532,000 * 4/12 = 9,844
29,650 * 4 * 15 = 1,779
5,560 * 50  *4 *12 = 13,344
29,650 * 4 * 63 = 7472
29,532,000 * 10% = 2,954
29,532,000 * 1.5/12 = 3,692
30,000 * 4 * 12 = 1,440
120,000 * 4 * 12 = 5,760
90,000 * 4 * 12 = 4,320
30,000 * 4 * 12 = 1,440
(1230-1231-120-201-01)
(=67,320)
- 12,000 * 330 * 12 = 47,520
- 10,000 * 165 * 12 = 19,800
= 6,903
ID 5,000,000 * 10 = 50,000




12,000 * 3 * 12 = 432
1,841,466 1,850,066 8,600
(1230-1231-110-101-01)
(=743,198)

@) 59,529,960 + 52,529,960 * 66% * 3% = 60,571

(27 ) (=682,627)
-5 2,843,100 * 3 * 12 * 1.03 = 105,423
-6 2,137,600 * 9 * 12 * 1.03 = 237,787
-7 1,924,300 * 11 * 12 * 1.03 = 261,628
-8 1,573,400 * 4 * 12 * 1.03 = 77,789
682,627,000 * 1/12 = 56,386

(1230-1231-110-101-02)

(=121, 362)
.5 48 *12  *1.03 = 16,857
.6 48 *12  *1.03 = 42,909
-7 7,210 * 11 48 * 12 *1.03 = 47,054
. 48 *12  *1.03 = 7,667
.9 48 *12  *1.03 = 6,875

(=22,080)
30,000 * 26 * 12 = 9,360
20,000 * 53 * 12 = 12,720
(=7,315)
47,700 * 6 * 4 = 1,145
385,600 * 4 * 4 = 6,170
(=30,240)

. 25 130,000 * 5 * 12 = 7,800
. 20 25 110,000 * 8 * 12 = 10,560
. 15 20 80,000 * 8 * 12 = 7,680




-10-

)
. 10 15 60,000 * 5 * 12 = 3,600
5 10 50,000 * 1 * 12 = 600
230,064,000 * 4.8% * 1.03 = 11,375

(=1,080)
30,000 * 3 * 12 = 1,080

(=1,200)
50,000 * 2 * 12 = 1,200
(=720)

.6 7 30,000 * 1 * 12 = 360
( ) 30,000 * 1 * 12 = 360

(1230-1231-110-101-03)

(=56,160)

130,000 * 28 * 12 = 43,680
130,000 * 8 * 12 = 12,480

(1230-1231-110-101-04)
5 140,000 * 3 * 12 = 5,040
6 7 130,000 * 20 * 12 = 31,200
8 120,000 * 4 * 12 = 5,760

(1230-1231-110-101-05)
682,627,000 * 1.2/12 = 68,263

(1230-1231-110-101-06)
682,627,000 * 2/12 = 113,772

(1230-1231-110-101-07)
60,571,000 * 66% * 10/360 = 1,111
682,627,000 * 10/360 = 18,962
292,226,000 * 70% * 10/360 = 5,683

(1230-1231-110-101-08)
(=332,869)




(=292,226)

(57,609,000 + 57,609,000 *

(38,052,000 + 38,052,000 *

(32,854,000 + 32,854,000 *

(30,237,000 + 30,237,000 *

(1230-1231-120-201-01)

(=7,320)
(=33,323)
11,152
7,366
6,360
5,853
(VTR, )

*

*

*

48
48
48
48

0% *

70% *

0% *

70% *

30,000

1.03%) * 1

1.03%) * 2

1.03%) * 2

1.03%) * 3

*7  *12

20,000 * 20 * 12

(=1,3

50,000

70,00
51)

*12  *1.03
*12 *1.03
*12 *1.03
*12 *1.03

*2 *12

0*6 *1

100,000 * 7

70,000 * 7
23,000 * 7

58,025

76,653

66,182

91,366

2,520
4,800

6,617
8,741
7,547
10,418

18,239
1,200

420

700
490
161
5,000
17,000

-11-




-12-

)

(1230-1231-120-202-01)
100,000 * 24 * 12 = 28,800

(1230-1231-120-202-02)

, VIR ,

150,000 * 11 * 12 = 19,800

(1230-1231-120-203-01)
3 6,000,000 * 1 = 6,000

(1230-1231-120-203-04)
(350,000 + 5,000 * 6 ) * 12 = 4,560

(1230-1231-120-204-01)
3 600,000 * 1 * 12 = 7,200

(1230-1231-120-204-02)
3 500,000 * 1 * 12 = 6,000
5 250,000 * 3 * 12 = 9,000
6 155,000 * 9 * 12 = 16,740
7 140,000 * 11 * 12 = 18,480
8 9 105,000 * 4 * 12 = 5,040

(=19,560)

400,000 * 1 * 12 = 4,800
o 250,000 * 2 * 12 = 6,000
155,000 * 2 * 12 = 3,720
140,000 * 3 * 12 = 5,040

(1230-1231-120-204-03)

(=20, 400)

. 5 50,000 * 27 * 12 = 16,200
50,000 * 7 * 12 = 4,200

(1230-1231-220-405-01)
500,000 * 2 = 1,000




1,400,000 * 1

1,400

-13-




